thread

Part # Description Range Colour Includes on
gauge

Oil Temp Electrical

523-15 [2" 50-150 °C street black [mounting bracket, sender (545-30 1/8" NPT thread), terminal screws n/a

524-21 [2" 50-150 °C sports silver |mounting bracket, sender (545-30 1/8" NPT thread), terminal screws n/a

530-21 |2" 40-150 °C plasma black [mounting bracket, sender, terminal screws, connecting wires, 4 way T piece with 1/4" thread + one plug, n/a
plus adaptors - three 1/4" M x 1/8" F; one 1/8" F x 1/2 M; one 1/8" F x 3/8" M; one 1/8" M x 1/8" M

Oil temp Mechanical

524-15 [2" 50-150 °C sports silver |mounting bracket, terminal screws, ether filled tube + sender (36 mm length/9.50 mm dia) with 5/8" UNF mounting nut n/a

533-15 [2" 50-150 °C street black [mounting bracket, terminal screws, ether filled tube + sender (36 mm length/9.50 mm dia) with 5/8" UNF mounting nut n/a

535-15 |2 5/8" 40-170 °C performance | black |mounting bracket, terminal screws, ether filled tube + sender (36 mm length/9.50 mm dia) with 5/8" UNF mounting nut n/a
plus adaptors - one 5/8" F x M16-1.5 M; one 5/8" F x 1/2" NPT M

537-15 |2 5/8" 40-170 °C pro silver |mounting bracket, terminal screws, ether filled tube with sender (36 mm length/9.50 mm dia), 5/8" UNF nut, n/a
plus adaptors - one 5/8" F x M16-1.5 M; one 5/8" F x 1/2" NPT M

Oil Pressure Electrical

523-16 [2" 100 psi street black [mounting bracket, terminal screws, sender (545-20 - 1/8" NPT thread), one adaptor 1/8" NPT F x 1/4" NPT M n/a

524-20 [2" 100 psi sports silver |mounting bracket, terminal screws, sender (545-20 - 1/8" NPT thread), one adaptor 1/8" NPT F x 1/4" NPT M n/a

535-20 (2 5/8" 100 psi performance | black |mounting bracket, terminal screws, sender (545-20 - 1/8" NPT thread), one adaptor 1/8" NPT F x 1/4" NPT M n/a

537-20 (2 5/8" 100 psi pro silver |mounting bracket, terminal screws, sender (545-20 - 1/8" NPT thread), one adaptor 1/8" NPT F x 1/4" NPT M n/a

530-20 [2" 0-100 psi plasma black [mounting bracket, terminal screws, sender (530-03 - 1/8" NPT thread), one adaptor 1/8" NPT x 1/4" NPT M n/a

Oil Pressure Mechanical

524-16 [2" 100 psi sports silver |mounting bracket, terminal screws, nylon tube (1/8" 0.d.), 2 x compression nuts 5/16" F plus olives, 5/16"
plus adaptors - one 5/16" M x 1/8" NPT M; one 1/8" NPT F x 1/4" NPT M

533-16 [2" 0-100 psi street black [mounting bracket, terminal screws, nylon tube (1/8" 0.d.), 2 x compression nuts 5/16" F plus olives, 5/16"
plus adaptors - one 5/16" M x 1/8" NPT M; one 1/8" NPT F x 1/4" NPT M

535-16 (2 5/8" 100 psi performance | black [mounting bracket, terminal screws, copper tube 6' (connector nuts 5/16" F, olives brazed onto copper tube) 1/8"
plus adaptors - one 5/16" M x 1/8" F; one 1/8" F x 1/4" M; one 5/16" M x 1/8" M

537-16 |2 5/8" 100 psi pro series | silver [mounting bracket, terminal screws, copper tube 6' (connector nuts 5/16" F, olives brazed onto copper tube) 1/8"




thread

Part # Description Range Colour Includes on
gauge
plus adaptors - one 5/16" M x 1/8" F; one 1/8" F x 1/4" M; one 5/16" M x 1/8" M
537-17 |2 5/8" 100 psi performance | black [mounting bracket, terminal screws, copper tube 6' (connector nuts 5/16" F, olives brazed onto copper tube) 1/8"
plus adaptors - one 5/16" M x 1/8" F; one 1/8" F x 1/4" M; one 5/16" M x 1/8" M

Water Temp Electircal

523-23 [2" 40-120 °C street black [mounting bracket, terminal screws, sender (545-30 - 1/8" NPT thread) n/a
524-30 [2" 40-120 °C sports silver |mounting bracket, terminal screws, sender (545-30 - 1/8" NPT thread) n/a
535-30 |2 5/8" 40-120 °C performance | black [mounting bracket, terminal screws, sender (545-30 - 1/8" NPT thread) n/a
537-30 |2 5/8" 40-120 °C pro silver |mounting bracket, terminal screws, sender (545-30 - 1/8" NPT thread) n/a
530-30 [2" 40-150 °C plasma black [mounting bracket, terminal screws, sender (530-03 - 1/8" NPT thread), one adaptor 1/8" NPT x 1/4" NPT M n/a
Water Temp Mechanical

524-23 [2" 40-120 °C sports silver |mounting bracket, terminal screws, 6' ether filled capillary tube + sender with 5/8" thread mounting nut n/a
524-24 [2" 40-120 °C sports silver |mounting bracket, terminal screws, 12' ether filled capillary tube + sender with 5/8" thread mounting nut n/a
533-23 [2" 40-120 °C street black [mounting bracket, terminal screws, 6' ether filled capillary tube + sender with 5/8" thread mounting nut n/a
533-24 [2" 12' Capillary street black [mounting bracket, terminal screws, 12' ether filled capillary tube + sender with 5/8" thread mounting nut n/a
535-23 |2 5/8" 40-140° C performance | black [mounting bracket, terminal screws, 6' ether filled capillary tube + sender with 5/8" thread mounting nut n/a
535-24 |2 5/8" 12' Capillary | performance| black |mounting bracket, terminal screws, 12' ether filled capillary tube + sender with 5/8" thread mounting nut n/a
537-23 |2 5/8" 40-140 °C pro silver |mounting bracket, terminal screws, 6' ether filled capillary tube + sender with 5/8" thread mounting nut n/a
537-24 |2 5/8" 12' Capillary pro silver |mounting bracket, terminal screws, 12' ether filled capillary tube + sender with 5/8" thread mounting nut n/a
Fuel Pressure Mechanical

512-15 |1 1/2" 15 psi white |[carby - no fittings, chrome or blue housing 1/8"
512-20 (1 1/2" 100 psi white [EFI - no fittings, black housing 1/8"
512-16 |1 1/2" 15 psi white [carby - no fittings, chrome housing 1/8"
512-21 |1 1/2" 100 psi white [EFI - no fittings, chrome housing 1/8"
524-07 [2" 15 psi sports silver |mounting bracket, terminal screws, copper tube 6' (connector nuts 5/16" F, olives brazed onto copper tube) 1/8"

plus adaptors - one 5/16" M x 1/8" F; one 1/8" F x 1/4" M; one 5/16" M x 1/8" M




thread
Part # Description Range Colour Includes on
gauge
535-07 |2 5/8" 0-15 psi performance| black |mounting bracket, terminal screws, copper tube 6' (connector nuts 5/16" F, olives brazed onto copper tube) 1/8"
plus adaptors - one 5/16" M x 1/8" F; one 1/8" F x 1/4" M; one 5/16" M x 1/8" M
537-07 |2 5/8" 0-15 psi pro silver |mounting bracket, terminal screws, copper tube 6' (connector nuts 5/16" F, olives brazed onto copper tube) 1/8"
plus adaptors - one 5/16" M x 1/8" F; one 1/8" F x 1/4" M; one 5/16" M x 1/8" M
Fuel Level (litres)
523-06 (2" with sender street black [mounting bracket, terminal screws, fuel sender (545-40 - top mount only) n/a
524-06 (2" with sender sports silver |mounting bracket, terminal screws, fuel sender (545-40 - top mount only) n/a
535-06 |2 5/8" with sender | performance| black |mounting bracket, terminal screws, fuel sender (545-40 - top mount only) n/a
537-06 |2 5/8' with sender pro silver |mounting bracket, terminal screws, fuel sender (545-40 - top mount only) n/a
545-40 (Sender only mounting bracket, terminal screws, fuel sender (545-40 - top mount only) n/a
Air/Fuel Ratio
524-40 (2" sports silver |mounting bracket, terminal screws n/a
530-40 (2" plasma black [mounting bracket, terminal screws, connecting wires n/a
Tachos
523-20 (2" street black [mounting bracket, terminal screws, diode n/a
524-01 (2" sports silver |mounting bracket, terminal screws, diode, connecting wires n/a
520-01 (2 5/8" performance | black [mounting bracket, terminal screws, diode, connecting wires n/a
520-02 (2 5/8" pro silver |mounting bracket, terminal screws, diode, connecting wires n/a
520-03 |2 5/8" suits 3cyl pro silver |mounting bracket, terminal screws, diode, connecting wires n/a
520-15 |3 3/4" w/Shift Light silver |terminal screws, diode, connecting wires, red light n/a
520-16 (3 3/4" street-strip | silver [terminal screws, connecting wires, diode n/a
523-18 |3 3/4" w/Shift Light black [terminal screws, connecting wires, diode, red light n/a
523-19 (3 3/4" street-strip | black |connecting wires, diode n/a
519-01 [85mm Diesel black [mounting bracket n/a
520-15 |3 3/4" with Shift Light silver |connecting wires, diode n/a
520-18 [4" w/Shift Light silver |mounting bracket, terminal screws, shift lite, connecting wires, yellow & blue covers for shift lite n/a




thread

Part # Description Range Colour Includes on
gauge

520-25 [5" w/ Shift Light silver [mounting bracket, terminal screws, shift lite, connecting wires, yellow & blue covers for shift lite n/a
520-10 [85mm Motor Cycle silver |handle bar mounting bracket, connecting wires n/a
520-40 [Shift Light only silver [red light n/a
520-50 [Shift Light adjustable silver |mounting bracket, terminal screws, connecting wires, yellow & blue covers for shift lite n/a
530-01 (2" plasma black [mounting bracket, terminal screws, connecting wires n/a
Hour Meter

523-01 [2" (12/24 volts) street black [mounting bracket, terminal screws n/a
Ammeter

524-51 [2" 60-0-60 amps sports silver |mounting bracket, terminal screws n/a
523-51 [2" 60-0-60 amps street black [mounting bracket, terminal screws n/a
535-51 |2 5/8" 60-0-60 ampq performance| black |mounting bracket, terminal screws n/a
537-51 |2 5/8" 60-0-60 amp9 pro silver |mounting bracket, terminal screws n/a
Voltmeter

523-22 [2" 8-16 volts street black [mounting bracket, terminal screws n/a
524-22 [2" 8-16 volts sports silver |mounting bracket, terminal screws n/a
535-22 |2 5/8" 10-18 volts | performance| black |mounting bracket, terminal screws, connecting wires n/a
537-22 |2 5/8" 10-18 volts pro silver |mounting bracket, terminal screws, connecting wires n/a
530-22 [2" 8-16 volts plasma black [mounting bracket, terminal screws, connecting wires n/a
Vac/Boost

524-04 [2" 30 psi sports silver |mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", T piece, vacuum nipple 5/16" 5/16"

plus adaptors - one 5/16" M x 1/8" M, one 1/8" F x 1/4" M
533-03 [2" 30 psi street black [mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", T piece, vacuum nipple 5/16" 5/16"
plus adaptors - one 5/16" M x 1/8" M, one 1/8" F x 1/4" M
535-03 [2 5/8" 20 psi performance | black [mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", T piece, vacuum nipple 5/16" 1/8"

plus adaptors - one 5/16" M x 1/8" M, one 1/8" F x 1/4" M




thread
Part # Description Range Colour Includes on
gauge

535-04 |2 5/8" 30 psi performance | black |mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", T piece, vacuum nipple 5/16" 1/8"
plus adaptors - one 5/16" M x 1/8" M, one 1/8" F x 1/4" M

537-03 [2 5/8" 20 psi pro silver |mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", T piece, vacuum nipple 5/16" 1/8"
plus adaptors - one 5/16" M x 1/8" M, one 1/8" F x 1/4" M

537-04 |2 5/8" 30 psi pro silver |mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", T piece, vacuum nipple 5/16" 1/8"
plus adaptors - one 5/16" M x 1/8" M, one 1/8" F x 1/4" M

530-02 [2" 30psi plasma black [mounting bracket, terminal screws, nylon tube, connecting wires, T piece, vacuum nipple 5/16" n/a

Boost

524-05 [2" 30 psi (no vac) sports silver |mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", 5/16"
plus adaptors - one 5/16" M x 1/8" M, one 5/16" M x 1/8" F, one 1/8" F x 1/4" M

533-05 [2" 30 psi (no vac) | performance| black |mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", 5/16"
plus adaptors - one 5/16" M x 1/8" M, one 5/16" M x 1/8" F, one 1/8" F x 1/4" M

Vacuum

535-10 (2 5/8" 0-30 in Hg performance | black |mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", T piece, vacuum nipple 5/16" 1/8"
plus adaptors - one 5/16" M x 1/8" M, one 1/8" F x 1/4" M

537-10 (2 5/8" 0-30 in Hg pro silver |mounting bracket, terminal screws, nylon tube, olives, 2 x compression nuts 5/16", T piece, vacuum nipple 5/16" 1/8"
plus adaptors - one 5/16" M x 1/8" M, one 1/8" F x 1/4" M

530-10 [2" 0-30 in Hg plasma black [mounting bracket, terminal screws, nylon tube, T piece, vacuum nipple 5/16" n/a

Clocks

523-02 [2" 24 hr. Digital 12v street black [mounting bracket, terminal screws, red & green globe covers n/a




